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l l l Semester B.Com. Examination, October/November 2A12
(F+R Scheme) (2010-11 and Onwards)

(Semester Scheme)
LANGUAGE HINDI (Paper -  l l l )

Upanyas,  Nibandh, Sankshipt ikaran

Time:3 Hours Max.  Marks:90/100

lnstructions : 1 ) Questin No. VI is compulsoryfor 201 2-t 3 Batch.
2) 1A0 marks for Fresh students of 2A12-13 Batch & onwards.
3) 90 marks for Repeater students priorto 2012-13.

l. ffifuo s{qi * 3ri qs'{roE, qrfli{r qT qter itfrfuq : (10x1=10)

1) Tqq qT"g t qfrq-* frfr ETkn fr Pft ?

t) w+q qrG 6lq-i {Rz iinfug s{rqs ttq{ q-{r ?

?) an$.srd. qrT. qrt * frq eff fi-dr (q*-iT{) qTa i aTtd Q ffi Fq.a fi ?

x) iM+<r qt{ l*-s frqq rR e}}qv firq}-J tqn o-r {* p* ?
u,) sft.S.{ft. qq 6T q.m edt ?
q) qdrrq qGrT m'T {rRd-d od pn ?

u) erFril* f*-s n-ilqq etrq-fr iiq'm 6-{flT eTT ?

e) *tem fr ifrq-S fft tq qrqfr o) mr q.mTi m-rfr efr ?

r) q-+q S qr it*t{ um e-{ril' en ?

t.) q]-fr qr6-q * ae sT qrr wr i ?

11. ftFqfufuRvgqtiitffiAerii*Tf,{frfuq (2x14=281

q) "qiwq 3iq RTqfi d qr*'n n$ eTr*'t.r" $s qrq * 3{TerR q{ gil*d * qf,dA

MinQrT qrfisrfrs e-ffitt *il-'rt fr !-{R q{ lthpr eifre r

i) qkfl m-r {igf,q q-{q{uffi {hq'r qrqRe-fuxuT Sfrq r

t) '&' ;nr qni{r fr€-f,{ ffiqar.,ttq{ rrrnl,{r sTkq r
P.T.O.
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ffi * q{ftquftftrfuq ,
q) tGT sft{ {hil fr qrcft ih r
?) *-{ ft-ddq qii'Sftq or{w.q r
r) FJf,r eTh Tfi 6r qn-{r t

ffi*qrfrdqftfuq'

i l t .

tv,
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(2x7=141

(2x14=281
q; silflf-d ri* r

i) Wisaft-frlur t

t )qrt

v. frqfrfuR qftdE qr sfud yNs tt g 1'* ftrC ii{i*q'T fifrq : 10

Bti rshT qcTr-};i ega gre wwraiiq"r qtq'fl $-FTT qg w t I "fi{ itqanqrf,;rS
fro rtr t t ss}l q-dsii *1 qqi "rfu n K K q&FqT q-s w t ffi rs-d qE wr t r
fft * vru.is q-s t I 'r& s ss+ frqqm tfr fr qs-{d rs t fr{ s.ftqi t qrq
$rn cfr qfr t ffi B-*'r sT sdnt{ frqr er q* r g;e s€fr'r t xrgd rTrqrft $i-+-dr
n* viu qd qr rS t 1 qfoasa 6 3ruften sft{ €frfr msFT S q'nor qES qr ft*+r
fiBq t) qrm t t ftiiftq *ri sl qR re {6r t ftiqh 6RUr rd'T ii c.r.Ti{r qq *nr qT
w t I ri+ if TslT fr t qr efoit B1 frrvr .rS ffi t qfr"nqn: qE qa 6'r t
+awiiqT Mrr drlq rfr S qr rsr t rrtr t tft'r 3{qfr Wrql qnrtr ffi q1 A=rR TS
a € t ffi snq g{rq t nqq fi qi'r + ltgrq t qKqi T$ ftrd qr rs t r

qwn: t{r fr s{rqrfr $h srrf}ts ftft s} tsdrr drrnT t ft sa{ sfrr t frfi-q q 6
tqr e'r frd.rq {rrq t I q6 Errrt silfth frsrq fr {q t r

Note : Compulsoryquestion for2012-13 students :

Wr+r: ?o??-t? ft€Ilf!ffii+Rq erffis[{:

vt. ffi wsT qfte-frT'r fifrq :
q)Tf f

?) {Eo

10


